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1. (a) Define the term Accounting Standard. State the fundamental assumptions of
AS-1. )

(b) X Ltd. commenced business on 1% January, 2008. On the same date, a Plant
costing Rs. 3,50,000 was purchased. Depreciation was charged @ 15% p.a.
on diminishing balance basis and charging full year’s depreciation on additions.
Over the years following additions were made :
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(2)

(b)

On 1-8-2009 Rs. 75,000

On 30-9-2012 Rs. 1,00,000

On 1-1-2012, it was decided to change the method and the rate of
depreciation to 10% on straight line basis with retrospective effect

from 1-1-2008, the adjustment being made in the account for the year
ending 31% December, 2012.

Prepare Plant account for the year 2012 only. (10)
OR

What is Accounting Equation ? Explain the Dual Aspect Concept of
Accounting. 5)

A company started its business on 1* January, 2013. It purchased and used
raw material upto 30" June, 2013 as shown below:

January 10 800 kgs @ Rs. 62 per kg.
February 28 1,200 kgs @ Rs. 57 per kg.
March 10 Issued 1,000 kgs.

March 26 7 Issued 500 Kgs.

May 20 900 kgs @ Rs. 65 per kg.
June 28 Issued 600 kgs.

June 30 Loss by fire 100 kg.

Find out the value of stock as on 30th June, 2013 if the company
follows perpetual inventory method on FIFO basis and on LIFO
basis. ' (10)

(37) AT AFETS TR ARG | AS-1 F SR AN Tl |

(@) v for ¥ 1 SFER, 2008 Y SO AR T O AT | 6 GRE H 350,000 T

IS Y T T S ST T | ST A SOTER @ SER W 15% 9 e
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3
T AW # wve | R gfeat @t TR

3
1-8-2009 <l 75,000
30-9-2012 <&l 1,00,000

1-1-2012 I B 96 & og SHIfRad deard ford T/ : 1-1-2008 & 3@ &t
R 10 WIS T UE - W SMUR WO @ UG w1 S9EnT | 3@ o 31
fearR, 2012 I GO B9 91 99 @ @l A IR qEEeE R @

T a9 2012 & o0 wive @ TR Y |

S

(37) RATRT GHIRT fohdl FEd & 7 TIRAlehT ol fg-T8el (STIaT qodal) ot ST ohi

—

(3)

T HIT |

T FE A 1 9Fad, 2013 SO AR AR HAT | 38 30 S, 2013 T
e A T A U S T TR o R

10 SFad 800 forelt 62 = Wit forcll &t W &
28 WU 1,200 frat 57 & it fohell &t SR A
10 ¥ 1,000 forenr feife foRd ™
26 W™ 500 forett freitfe fmd M@
20 #% 900 fell 65 = wfd forell ot W W
28 T 600 forell Frifa ford

30 5§ N & RO &fe: 100 el

T A RO TRy ARl T WO B ol QI W e W ST, TR Wad
(frmr) o e smaes, womt wiaes (fort) smeml w30 S, 2013 & wid &l

I FE hIg |
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2.

4
The following Trial Balance was extracted from the books of Mr. A as on 31st
March 2013 : (15)
Particulars Rs. | Particulars - Rs.
Plant & Machinery 78,000 | Capital 1,00,000
Furniture 2,000 | Sales 1,27,000
Purchases 60,000 | Retumns 750
Returns 1,000 | Discount 800
Opening stock 30,000 | Provision for Bad debts 525
Discount 425 | Sundry creditors 25,000
Sundry debtors 45,000
Salaries 7,550
Manufacturing wages 10,000
Carriage outward 1,200
Rent, Rates & Taxes 10,000
Advertisement 2,000
Cash 6,900
2,54,075 2,54,075

Prepare Trading and Profit and Loss Account for the year ended 31st March

2013 and a Balance Sheet as on that date after taking into consideration the

following adjustments :

(1) Closing Stock was valued at Rs. 8,000 and the approval was not received

before the end of the month Rs. 34,220.

(i1) Provision for Bad debts is to be képt' at Rs. 500‘. :

(1)) Allow interest on capital at 10% p.a.

-



T ———

1799 S

(iv) Goods worth Rs. 7,000 were sent on 25.3.2013 as ‘Sale on Approval Basis’

for Rs. 8,000 and the approval was not received before the end of the

month.
(v) Depreciate Plant and Machinery and Furniture by 10%.

(vi) The proprietor Mr. A has taken goods worth Rs. 5,000 for personal use and
distributed goods worth Rs. 1,000 as samples.

& \ OR

Following is the Balance Sheet as on 31** March 2013 of a firm, having three

5 |~ partners A, B and C sharing profits and losses equally. ’ (15)

p

j Liabilities Rs. | Assets Rs.

' Sundry Creditors 2,00,000 | Cash 31,200

i Loan (Secured by Furniture) 1,00,000 Stock 1,56,300

l Capital A/Cs Debtors | 47,200

___ A 80,000 |- Furniture 95,300

;_ B 60,000 | Profit & Loss A/c 1,20,000

E C 10,000

R ¢ @

F— 4,50,000 4,50,000

rch 7

Evthe ‘ The firm was dissolved due to insolvency of all partners. Stock was sold for

| Rs. 99,000, while Furniture fetched Rs. 50,000. Rs. 41,000 were received from
Debtors. Realisation expénses totalled Rs. 2,200. Nothing could be recovered

ved

from B & C, but Rs. 6,000 could be collected from A’s private estate.

Prepare necessary accounts to close the books of accounts.

i | | PTO.
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frafoRas AW wemr (o) 31 W, 2013 ft T orar- el ¥ foan @
% :
faazor % | faawm <
FgF vE wHEQ 78,000 | IS 1,00,000
HAR 2,000 | fas 1,27,000
Qe 60,000 | @& 750
Eler) 1,000 | e 800
R wid 30,000 | SE@iea WO Y WEUH 525
Ll 425 | ffter e 25,000
fafqgr o @R 45,000
I 7,550
ol wwed 10,000
WEE gas ol 1,200 |
o, | 9 W 10,000
[EEILE) 2,000
A 6,900

2,54,075 2,54,075

FrfRad qaEioFl o & A TEe 31 W, 2013 = 9O B 9 aY & forg emaRes
Td I TR SR S A i gt dar il

(i) sifem =T <1 eaehT 8,000 ® R fofar Ira | 15 95 R A g9 34,220 ® & fow

g T T A

(ii) mm%»mwsoo T, qeh T B |
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(i) ISR R = 10% AfER T A B

(iv) 25-3-2013 &I 7,000 % Tl AR AT AT TIHAT Sl AT T 8,000 T F I 2
NS 0 3R AE N WA R gah foig Thhta 8 I A

(v) 999 9 MEHAA qAT BERR W 10% B T 7 |

(vi) R & w@Et it T o el SR 39 5,000 € N AW T W forn 3R
1,000 T & AAT T A A & 9R W S & @ |

AT

31 9, 2013 & Uk B ol arﬁia?ﬁwﬁmﬁﬁaa%imwﬁﬁqoﬁrow@oﬁ#
AR T 1| A Y A - N SRS - KK i oA = -

fafqer <R 2,00,000 | =g 31,200
W (W ER ) 100000 | & N 1,56,300
go @ EL i 47,200
T 80,000 | W 95,300
Mo 60,000 | «-gI @M 1,20,000

o | 10,000
4,50,000 | 4,50,000

R 1 e Frere @ R v R 9 @ T i 99,000 ® B Ry
a9 f3ar I | W IR 99 ¥ 50,000 ® fiet | 3ERN ¥ 41,000 T U BT | a9 & Al

Sl e WA 2,200 T A 1 o 3R Ao A HF W IGA 6l B GoAl, g Yo I Aol wraere
¥ 6,000 T H IME TS |

T & T Al 6w @ oy e we o AR Fifg |
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3. X of Mumbai consigned 1,000 barrels of lubricant oil costing Rs. 1,200 per
barrel to Y of Delhi. X paid Rs. 60,000 as freight and Rs. 12,000 as insurance. |
50 barrels of oil was destroyed in-transit. The insurance claim was settled at |
Rs. 25,000 and was paid directly to consignor. Y took delivery of consignment
and accepted a bill for Rs. 5,00,000 for three months. An account sale was

received and the following was reported by the consignee.

(i) 750 barrels of oil was sold @ Rs. 1,750 per barrel.

(i) Other expenses were :
Clearing Charges Rs. 13,800, Godown Rent Rs. 15,000, Wages Rs. 35,000,
Selling and Administrative Expenses Rs. 25,000. .
S

(i) 20 barrels of oil was lost due to leakage which is considered to be normal.
Y is entitled to a commission of 5% on gross sales. The balance due to consignor

was sent by bank draft.
Prepare Consignment A/c and Y’s A/c in the books of X. (15)

OR

X and Y entered into Joint Venture for buying and selling condemned railway |

materials. The profit or loss was to be shared in fee ratio of 2:3. -2

In an auction material worth Rs. 7,50,000 was purchased by X and paid v
Rs. 50,000 for freight and unloading expenses. X drew a bill on Y at a two |
months demand for Rs. 5,00,000. The bill was discounted for Rs. 4,97,500. ¢ ”\) |

Other transactions relating to Joint Venture were as follows :
(1) Y purchased material costing Rs. 3,50,000.

(i) X paid Rs. 7,500 for carriage-outward Rs. 12,500 as commission and

Rs. 5,000 as travelling expenses.

(i) Y paid godown rent Rs. 45,000 and other sundry expenses Rs. 6,750.

(iv) Sales effected by X amounted to Rs. 8,15,000 whereas Y sold goods for
Rs. 5,85,000.
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|
|
|
K Goods costing Rs. 10,000 and Rs. 15,000 were retained by X and Y respectively
3 , and these were charged to them at a price so as to show the same rate of gross
| profit as is made on the sales. X was credited with a sum of Rs. 15,000-to cover
the cost of warehousing and insurance.

Prepare Joint Venture A/c and X’s A/c in the books of Y showing final
settlement. , (15)

[ gwéa‘»‘m%mo6.9%%%}%%‘1,000%%—.%1%@%#3%&%

| ¥ foRaT | T T 60,000 & WIS AT 12,000 & A oY A Rl | T Ih oA & 50
0, l‘ WA AT B T | A T @ A AUCR 25,000 T H FIN SR A S QL IR

b : _v =t forar war | 9 AT W o g daR 3 W @ oe °F 500,000 € h U o
1 F TAF o At | AR ¥ et o v faawor urea gen sk S e g en

f (i) 750 R T 1,750 & AR KA & 9 R faw 4w |
101
(i) 37 = 3q YR A :

15) e Ie®- 13,800 =, Tiem @ fRw@T- 15,000 ®, A9qd - 35000 %, s va
| ' T @ - 25,000 € 1
| (iii) 20 9T A TR MR | TN B AT | @ B R AR HEAT R
T
[ qE TR R R 5% FHE I AT THSR B | ATF H 9T AW A b I BR A
paid & i
thO ’1 3T g it foRaral A Jwor e iR 9 @ @ JaR i |

AT

| T 3R 91 A a1 QA AT WA T SO B U GG SUHH A yawr oA 1w -
BIFT T GBI 2:3 & ST § BT 99 I | |

and ‘

| ok IRt § T gRT 7,50,000 € o A6 @AST T 3R I8 WS 9 Aol SR & =@l
R | g 50,000 T T WA fRaT | Yo = 9% @ 500,000 & & fo@ 2 WE o1 v faum
EO l forem | @rE fam 4,97,500 = & forw sy w0
Es’lsfor FITh JUHH ¥ TR S oo 59 YR o

w (i) arE ¥ 3,50,000 T Wt AR W A @IS o |

| PT.O.
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(i) v o T e fa
W qET - 7,500 & FHAIA - 12,500 T TA THA 4T - 5,000 % |

(iii) = 7 45,000 T Wew T fEFRET S 6750 T = fafqw =@ @ R R |

(iv) ver BRI 8,15,000 &t ot Tt g%, Sfh arg 3 e ® 5,85,000 & B e ¥
fear '

TE R 91E 7 HAW: 10,000 T 15,000 T NG H A W@ o1 IR 0 g I a8
WA W6 ot T S R Aol W o o X @ et o | A TeW e
S AR ot $RATS @ folg U T 15,000 ® SR A T | A s M Raew
BY A% @ foharel A WTh SO @Il 3R e SR @l 9GRS |

4. Goods were sent by Head Office to Aligarh Branch at selling price, being cost
plus 25%. From the following particulars prepare, Branch Stock A/c, Branch -
Debtors A/c, Branch Adjustment A/c and Branch Profit and Loss A/c.

Rs.

Goods sold by Branch (at cost) 9,35,000
Cash Sales : 2,55,000
Credit Sales ?
Branch Expenses paid by Head Office :

Salaries _ 51,000

Rent 20,400

Other Expenses | 13,600
Shrinkage at cost'(Norma'l) : 10,000
Opening sfock at Branch at cost 85,000
Branch Debtors in the beginning | 1,19,000
Closing Stock at Branch at cost 1,27,500
Branch Debtors at the end 1,61,500
Bad debts at Branch o 3,750 (15)

OR
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On 1% January 2010, A Ltd. sold three Cars for a total cash price of Rs. 6,00,000
on Hire-Purchase basis to B. The terms of agreement provided for Rs. 1,20,000 -
as down payment and the balance of cash price in three equal instalments together
with interest at 12% per annum, calculated at yearly rest. The instalments were
payable on the following dates :

First Instalment On 31-12-2011
Second Instalment On 31-12-2012
)

Third Instalment On 31-12-2013

B paid two instalments on time but could not pay the third instalment. As a
consequence A Ltd. repossessed the two Cars and valued them at 60% of the

= - cash price paid. A Ltd. got these Cars repaired for Rs. 24,000 and sold one Car
for Rs. 1,25,000.

B charged depreciation at 15% per annum on Diminishing Balance Method.

Prepare B’s A/c and Cars A/c in the books of A Ltd. and A Ltd.’s A/c in the
books of B. (15)

TN e 8RT SNE ARAT Shl AW SFT 25% o f3rohar - 9o R Aiet il 1 | 319
1 foeron @ wIRan e @, TRaT SR @i, ARAl GHES arEl AR IRAT e - B
\ WAl AR AR |

£
WA G 9 T A (R W) ~9,35,000
EETIRCED] 2,55,000
¢ JuR Tt ?
‘ YU FRE R WEHE R ™ w3
RG] 51,000
| ferrn 20,400
' T T 13,600
1 I G (AR W) 10,000
! W@ @ U IRNE ' (AP W) 85,000
| N WEH H ARA & OFER 1,19,000
| ' W @ U SikM wie (AR R) 1,27,500
Jd H A &® AER 1,61,500

% TRAT T WA 3,750

PT.O.
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JTAAT

1 SR, 2010 W Yo oo 7 o &1 W R 6,00,000 & P el Fehe Hed & oY et -

A JMUR W S=0 | S O A D S 1,20,000 §F WA I MG A |

AN HIT T AT Aed Ahe S Ay fasm  aRefor e van we el 3 12%

= A X | fohar o w1 Qe e e Rt w 2 o0

TEel e 31-12-2011 &t
@ e 31-12-2012 @t
Sl e 31-12-2013 &I

Wo 7 A oAl &1 AW W W o fRar | w98 e e 3§ sEwd @)
TRUTHETEY, To foro F 31 Rt 310 Sifdrenm & & foran 3k Seieht Hedienet o fomd
T FHE A T 60% W AT | To 1o 24,000 T o 37 R &t AT T o 3K
T A Y R @l 1,25,000 T D fore 39 fan 1 o F v v@l & SR 15% it
® A T A AT

4 Yo foto it qeenl o o o1 TGN T R W@IAT A Wo B el A Yo Mo & @wn
FIR FIRIT |

Attempt any three of the following : 7

(a) What do you understand by Auditing ? State its objectives.

(b) Distinguish between Accounting and Auditing.

(c) “Vouching is the essence of Auditing.” Explain.

(d) Audit procedure to verify the long term investments ?

(e) Verification supplements Vouching. Comment. 2L 3%3)

1 9 9 ol i\ & S afw

(m) D Y FTH T I B ? TR I2IT T |
(@) @i 3R R A R HIY |

(1) “SEMU, SehETOT AR qeT 27 | ARAT AT |

(a) =t st & fafErt & g A sider - sk |

(¥) "<, WO @ T ® 1 o S |

(400)

L.



